
All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Replaces Exmark Staris E-Series Parts
Stand-On Mower with 44in Deck - Model STE600GKA44300
Deck Parts



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

Tires

30 R68-2730 1-603299 Wheel - Anti Scalp 2 7.85

Other Parts Available

40 R116-3344 116-3344 Spindle Housing Assy 2 92.80

41 R116-0720 116-0720 Bearing - Ball - Special Triple Seal 4 9.30

42 R103-3037 103-3037 Splined Bushing 2 14.80

43 R104-8301 104-8301,
109-6658 Locknut - 3/8-16 Nylon Flanged 25 0.84

44 R116-7306 116-7306 Hex Nut - 3/4-16 with Nyloc 2 2.75

45 R126-9196 126-9196 Idler Pulley - Flat 1 42.75

47 R116-6317 116-0133,
116-6317 Spring - Extension 1 17.50

52 R116-8131 116-8131 Axle - Roller 2 10.75

53 R98-5975 98-5975 Washer - Belleville 2 2.40

54 R1-373034 1-373034 Washer - 7/16 HD 1 1.85

55 R453011

3256-23,
3256-24,
3256-3,
3256-4,
80-7730

Washer - Flat 3/8 SAE Y/Zinc 1 0.11

56 R109-9220 109-9220 Bolt - Sems 1/2-20 2 5.59

57 R116-9362 116-9362 Bolt - Hex HD 3/8-16 x 3 3/4 GR8 YZ 2 1.22

Replaces Exmark Staris E-Series Parts
Stand-On Mower with 44in Deck - Model STE600GKA44300
Deck Parts


